Fall 2000

Practice Questions #3

Answer key

	Good X
	TU
	MU

	1
	122
	20

	2
	130
	8

	3
	137
	7

	4
	142
	5


2.

a. 

                Y

               16


                  0           8           16                    X 

Budget line 1 goes from point (0,16) to point (8,0).  Budget line 2 goes from point (0,16) to point (16,0).  Budget line 3 (not drawn on the graph) goes from point (12,0) to point (0,12);  Budget line 3 also goes through the point (4,8).

b. Peter can still afford the original bundle, but he will not choose to consume the original bundle since it no longer maximizes his satisfaction.  The substitution effect is the change in good X consumption from point A (4,8) to point C (more than 4 units of X, less than 8 units of Y).  Note that with the substitution effect you are comparing consumption bundles chosen with different prices for good X and good Y.  The income effect is the change in X consumption from B (8,8) to C (less than 8 units of X and more than 4 units of X, less than 8 units of Y).  Here the budget lines are parallel, hence the prices used for both budget lines are equal  but the amount of income for the two budget lines is different.

c.  It will be downward sloping:  as income increases the individual will choose to consume more of good X and less of good Y. 

3. 

a.          

	Units of good
	1
	2
	3
	4
	5

	MUX
	5
	4
	3
	2
	1

	MUY
	6
	5
	4
	3
	2


b. At the equilibrium, the consumer buys 2X and 3Y, since MUX  / PX = MUy / Py = 4 utils.

c. The consumer will buy 4X and 3Y.

d. The two points on the consumer’s demand schedule for commodity X: at Px = 1, Qx = 2; at Px = 0.5, Qx = 4.  

4. Suppose that a consumer has the MUx of Table 3 and MUy of Table 4. Suppose also that her money income is $10, Px  = $2 and Py = $1.

a. according to the rule: MUx / Px = MUy / Py, the consumer should purchase 2X and 6Y to maximize her total utility. By purchasing 2X and 6Y, the consumer receives 81 unit of utility(14+12 from X and 13+11+10+8+7+6 from Y).

b. To buy the third unit of X(Px = $2), she would have had to give up the fifth  and sixth units of Y (Py= $1).  Thus, she gains 11 utils and loses 13 utils(7+6), with a net loss of 2 utils. With similar reasoning, she will have a net loss of utils if she gives up the second unit of X and buy her seventh and eighth unit of Y. 

5. 

a. the explicit costs of the owner = 200,000 (wages) + 50,000(interest) + 70,000(rents) = 320,000; the implicit costs = 40,000(wage in his best alternative employment)  + 10,000 (interest on his money capital). So his total cost is $370,000.  Thus, total revenue – total cost = profit = $30,000.

b. The man in the street would instead say that this owner’ profit is $80,000, i.e., total revenue $400,000 minus the explicit costs of $320,000. However, the implicit cost represents the normal return on the owner’s own factors and is appropriately considered a cost by an economist. 

c. The owner earns less than a normal return on his own factors(his wage and interest in the best alternative employment) and it would pay for him to go out of business and work as a manager for someone else and to lend his money capital to someone else. This shows that implicit costs are indeed part of the costs of production because they must be covered in order for the firm to remain in business. 

6. 

a.   

	Q
	AFC
	AVC
	AC
	MC

	0
	--
	0
	--
	--

	1
	100
	100
	200
	100

	2
	50
	75
	125
	50

	3
	33.33
	83.33
	116.66
	100

	4
	25
	100
	125
	150

	5
	20
	120
	140
	200


c. AFC declines continuous as output expands. MC and AVC and AC curve are U-shaped, they eventually rise because of the law of diminishing returns. The AC and AVC fall as long as MC is below them. MC = AC and MC = AVC at the minimum value of both the AC and AVC.

7. 

a.  

	NO. of Tailors
	0
	1
	2
	3
	4
	5
	6

	NO. of Suits
	0
	2
	5
	10
	14
	17
	19

	MPL
	--
	3
	3
	5
	4
	3
	2


b. The law of diminishing returns begins to operate with the addition of the fourth tailor. Up to that point, the shop is underutilized. Up to this point, since tailors specialize, each tailor become more productive.  When you hire the fourth labor output increases but at a decreasing rate.

c. Now there may not be enough equipment  in the shop to keep all four tailors fully occupied all the time. The shop is also becoming too crowded.  Diminishing returns have set in.

 8.  If the firm could build an infinite number of different size plants, in the long run, there would be a very large number of SRAC curves. By drawing a curve tangent to all these SRAC curves we get a  long run average cost curve (LRAC curve).  This curve is the “envelope” of all the SRAC curves and shows the minimum per-unit cost of producing each output when the firm can build any desired scale of plant. 

